

$$3a^2 - a + 1 = 0 \rightarrow \frac{c}{a} = \frac{1}{3} \rightarrow a = 3\beta \rightarrow 3B^2 = \frac{1}{3} \rightarrow B^2 = \frac{1}{9} \rightarrow \beta = \pm \frac{1}{3}$$

اگر $\beta = \pm \frac{1}{3} \rightarrow$ هر دو بار هم می آید $\rightarrow a = -2, \beta = -\frac{1}{3} \rightarrow a + \beta = -\frac{7}{3} = \frac{a}{\beta} \rightarrow a = -1$

یا $a = 2, \beta = \frac{1}{3} \rightarrow a + \beta = \frac{7}{3} = \frac{a}{\beta} \rightarrow a = 1$

$$|a_1 - a_2| = |1 + 1| = \boxed{2}$$

$$4a^2 - (m+1)a + 1 = 0 \quad \frac{1}{a} + \frac{1}{\beta} = a \rightarrow \frac{\sqrt{a} + \sqrt{\beta}}{\sqrt{a\beta}} = a$$

$$\sqrt{a} + \sqrt{\beta} = \sqrt{(\sqrt{a} + \sqrt{\beta})^2} \rightarrow \sqrt{a + \beta + 2\sqrt{a\beta}} \rightarrow \sqrt{\frac{a + \beta + 2\sqrt{a\beta}}{a\beta}} = a \rightarrow$$

$$\sqrt{\frac{s + 2\sqrt{p}}{p}} = a \rightarrow \begin{cases} s = \frac{m+1}{4} \\ p = \frac{1}{4} \end{cases} \Rightarrow \sqrt{\frac{\frac{m+1}{4} + \frac{1}{4}}{\frac{1}{4}}} = a \rightarrow \frac{m+2}{2} = a \rightarrow m = -1$$

$ma^2 + 3a + 1 = 0$
 $-a^2 + 3a + 1 = 0 \rightarrow p = \frac{1}{-1} = \boxed{-1}$

$$ka^2 + ka^2 - 9a - 1 = 0 \quad a + \beta = 1 \quad a\beta = -1 \rightarrow a^2 - a + 1 = 0 \rightarrow (a-1)(a+1) = 0$$

$a = 1 \rightarrow 3 + k - 9 - 1 = 0 \rightarrow k + 1 = 0 \rightarrow k = -1$

$a = -1 \rightarrow -1 + k + 9 - 1 = 0 \rightarrow k = -7$

$$\boxed{k = -7}$$

$$a^2 + 4a + a = 0 \quad a < \beta < 0 \quad 3a^2 + 4\beta^2 = 11\sqrt{2} + 10 \quad s = -4, p = a$$

$$3a^2 + 4\beta^2 \rightarrow \frac{3}{1}(a^2 + \beta^2) + \frac{1}{1}(a^2 - \beta^2) = \frac{3}{1}(s^2 - 4p) + \frac{1}{1}\left(\frac{s}{|a|}\right) =$$

$$9 - 12a + 4\sqrt{4-a} = 10 + 11\sqrt{2} \rightarrow 9 - 12a = 10 + 11\sqrt{2} \rightarrow a = 1$$

$\rightarrow 4\sqrt{4-a} = 11\sqrt{2} \rightarrow a = 1$

$$\boxed{a = 1}$$

$$a^2 - 4a^2 - 4 = 0 \rightarrow a^2 = t \rightarrow t^2 - 4t - 4 = 0 \rightarrow t = \frac{4 \pm \sqrt{49}}{2}$$

$$a^2 = \frac{4 \pm \sqrt{49}}{2} \rightarrow a = \frac{2 \pm \sqrt{49}}{2} \rightarrow a = \pm \sqrt{\frac{4 \pm \sqrt{49}}{2}} \rightarrow s = \frac{2 \pm \sqrt{49}}{2} - \frac{\sqrt{4 \pm \sqrt{49}}}{2} = 0$$

پس $p = \sqrt{\frac{4 \pm \sqrt{49}}{2}} \times -\sqrt{\frac{4 \pm \sqrt{49}}{2}} = \frac{-4 - 49}{2} \rightarrow 4p^2 - 4sp + 4s = 0$

$$4p^2 = \left(\frac{-(4 \pm \sqrt{49})}{2}\right)^2 \times 4 = \frac{11 \pm 11\sqrt{49}}{2} \times 4 = \boxed{22 \pm 22\sqrt{49}}$$

$$\begin{aligned}
 r a^r - a a + b &= 0, \quad r a a^r + a a - r = 0 \\
 \downarrow & \quad \downarrow \\
 s = \frac{a}{r}, p = \frac{b}{r} & \quad s = -\frac{1}{r}, p = -\frac{4}{ra}, -\frac{r}{a} \rightarrow a = 1 \rightarrow p = -r \\
 \frac{a}{r} = -\frac{1}{r} + \frac{1}{r} + \frac{1}{r} \rightarrow a = 1, \quad p = (\alpha + \frac{1}{r})(\beta + \frac{1}{r}) = \frac{\alpha\beta}{-r} + \frac{1}{r}(\alpha + \beta) + \frac{1}{r^2} \\
 p = -r - \frac{1}{r} + \frac{1}{r} = p = -r \rightarrow \frac{b}{r} = -r \rightarrow b = -4 \rightarrow \left[\frac{ab}{r}\right] = \left[\frac{-4}{r}\right] = \boxed{-\frac{4}{r}}
 \end{aligned}$$

$$\begin{aligned}
 a a^r - a a - b &= 0, \quad r \cdot \beta^r + r \cdot a^r - r \cdot \beta = 10 \rightarrow r \cdot (\beta^r - \beta) + r \cdot (a^r - \beta^r) = 10 \\
 \beta^r - a \beta^r - a \beta - b &= 0 \rightarrow a \beta^r, a \beta + b \rightarrow \beta^r, \beta + \frac{b}{a} \rightarrow \beta^r - \beta = \beta + \frac{b}{a} \rightarrow \beta = \frac{b}{a} \\
 a^r + \beta^r, s^r - r p &= 1 + \frac{r b}{a} \rightarrow r \cdot \left(\frac{b}{a} + \frac{r b}{a} + 1\right) = 10 \rightarrow \frac{b}{a} = -\frac{1}{r} \rightarrow a = -r \cdot b \\
 -r \cdot b a^r + r \cdot b a - b &= 0 \rightarrow r \cdot a a^r - r \cdot a + 1 = 0 \rightarrow \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{r \cdot -1}}{|r \cdot 1|} = \frac{\sqrt{r \cdot 0}}{0}
 \end{aligned}$$

$$\begin{aligned}
 a^r - (a+1)a + 4 &= 0, \quad a^r - (ra+1)a + b = 0 \rightarrow a + r, a \rightarrow (a - a - r) = r \\
 \downarrow & \quad \downarrow \\
 a+1, a+r \rightarrow |a+1-a-r| &= r \\
 \frac{\sqrt{\Delta}}{|a|} = r \rightarrow \sqrt{a^r + 1 + ra - ra} &= r \\
 \frac{\sqrt{\Delta}}{|a|} = r \rightarrow \sqrt{a^r + 1 + 4a - ra} &= r \\
 a = 1 \rightarrow \frac{ra+1}{1} = -1 \rightarrow -1 = ra+1 \rightarrow a = -\frac{r}{r} \rightarrow a = -1 \\
 a = r \rightarrow \sqrt{1+1+11-11} = r \rightarrow 1 = -rb, r \rightarrow b = -r, a = r \\
 p = r^r, \quad |r^r - r| = \boxed{r^r}
 \end{aligned}$$

$$\begin{aligned}
 a^r + a - 1 - m^r &= 0, \quad a^r + \beta^r \rightarrow s^r - r p = 1 + r + r m^r = r + r m^r \\
 r m^r + r \rightarrow -\frac{b}{a} = 0 \rightarrow \frac{\sqrt{\Delta}}{ra} = \boxed{0 + r = r}
 \end{aligned}$$

$$\begin{aligned}
 A(r, y) \quad B(a, y) \quad a^r + \beta^r = a \\
 \text{Wasser} \rightarrow a_s = \frac{r \cdot 0}{r} = -1, \quad y_s = 1 \rightarrow (y-1) = a(a+1)^r \\
 -\frac{1}{a} = (a+1)^r \rightarrow a + 1 \pm \sqrt{\frac{-1}{a}} \rightarrow a = -1 \pm \sqrt{\frac{-1}{a}} \\
 a^r + \beta^r = a \rightarrow \left(-1 + \sqrt{\frac{-1}{a}}\right)^r + \left(-1 - \sqrt{\frac{-1}{a}}\right)^r = 0 \rightarrow \frac{-1}{a} = \frac{r}{r} \rightarrow a = -\frac{r}{r} \\
 a = 0 \rightarrow y - 1 = a \rightarrow y = \boxed{\frac{1}{r}} \rightarrow \text{Wasser}
 \end{aligned}$$